
Hannay ISO Parts Lists are available at www.hannay.com

Hannay Reels, Inc.
553 State Route 143, Westerlo, NY 12193
www.hannay.com
Email: reels@hannay.com

Phone 1-518-797-3791
Toll Free 1-877-GO-REELS (467-3357)
Fax 1-800-REELING (733-5464)
Int’l Fax 1-518-797-3259

ISO 272
PARTS LIST

TRAPEZOID FRAME 
STACKING KIT

H-2502-P REV 1  6/25

2519A

19B

27

25

27

25 19B 25 27

19A
27

27
25

STACKING KIT 
SHOWN

AS VIEWED 
FROM REAR



Hannay ISO Parts Lists are available at www.hannay.com H-2502-P REV 1  6/25

PARTS LIST
ISO 272

TRAPEZOID FRAME STACKING KIT

When Ordering Parts
BE SURE TO SPECIFY COMPLETE MODEL NUMBER and SERIAL NUMBER OF REEL

USE PART NUMBER!
Item # Description Part # Qty

- Steel Universal Stacking Kit w/ Hardware (22.5" Depth), per P19A-00240 (Specify Model)....................... 9908.1061 1
- Stainless Steel Universal Stacking Kit w/ Hardware (22.5" Depth), per P19A-00240 (Specify Model)....... 9908.1065 1
- Steel Manual Stacking Kit w/ Hardware (18" Depth), per P19A-00350 (Specify Model)............................. 9908.1071 1
- Stainless Steel Manual Stacking Kit w/ Hardware (18" Depth), per P19A-00350 (Specify Model)............. 9908.1075 1

19A Pair of Steel Universal Stacking Kit Side Frames (22.5" Depth), per P19A-00240..................................... 9908.1041 1
19A Pair of Stainless Steel Universal Stacking Kit Side Frames (22.5" Depth), per P19A-00240..................... 9908.1046 1
19A Pair of Steel Manual Stacking Kit Side Frames (18" Depth), per P19A-00350........................................... 9908.1042 1
19A Pair of Stainless Steel Manual Stacking Kit Side Frames (18" Depth), per P19A-00350............................ 9908.1047 1
19B Pair of Cross Braces (Steel) for Trapezoid Stacking Kit (Specify Model).................................................... 9908.1043 1
19B Pair of Cross Braces (304 Stainless Steel) for Trapezoid Stacking Kit (Specify Model)............................. 9908.1048 1
25 3/8"-16 x 1" Spinlock Bolt............................................................................................................................ 9904.2202 13
25 3/8"-16 x 1" Stainless Steel Hex Head Bolt (not shown)............................................................................. 9960.0072 13
27 3/8"-16 Spinlock Nut.................................................................................................................................... 9904.6200 13
27 3/8"-16 Stainless Steel Spinlock Nut........................................................................................................... 9960.0091 13


